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NLH3-400- 5 -1.0-% 3.0MPax52 /mn | 21MPax 1.0 /min RC3/8 RC3/8
NLH3-400- 5 -1.5-% 3.0MPax 52 /nn | 1TOMPax1.58 /min RC3/8 RC3/8
NLH3-400-10-1.0-% 1.5MPax108 /mn | 21MPax 1.0 2 /min RC3/8 RC3/8
NLH3-400-10-1.5-% 400W-4P 1.5MPax10€ /mn | TOMPax 1.5 € /min RC3/8 RC3/8
NLH3-400-15-1.0-3% 1.0MPax15¢ /mn | 21MPax 1.0 £ /min RC3/8 RC3/8
NLH3-400-15-1.5-% 1.0MPax158 /mn' | 1TOMPax 1.5 £ /min RC3/8 RC3/8
NLH3-750-20-1.5-% 750W-4pP 1.5MPax20¢ /mn | 21MPax 1.5 € /min RC1/2 RC1/2-RC3/4
NLH3-750-20-2.7-% 1.5MPax20¢ /mn | 10MPax2.7 ¢ /min RC1/2 RC1/2-RC3/4
NLH3-1.5-20-1.5-% 3.0MPax208 /mn | 35MPax 1.5 0 /min RC1/2 RC1/2-RC3/4
NLH3-1.5-20-2.7-% 3.0MPax202 /mn | 21MPax2.7 ¢ /min RC1/2 RC1/2-RC3/4
NLH3-1.5-20-3.7-% 1 Bkw-aP 3.0MPax202 /mn | 15MPax3.7 € /min RC1/2 RC1/2-RC3/4
NLH3-1.5-30-1.5-% 2.0MPax300 /mn | 35MPax 1.5 8 /min RC1/2 RC1/2-RC3/4
NLH3-1.5-20-2.7-% 2.0MPax308/mn | 21MPax2.7 ¢ /min RC1/2 RC1/2-RC3/4
NLH3-1.5-30-3.7-% 2.0MPax30¢ /mn | 15MPax3.7 ¢ /min RC1/2 RC1/2-RC3/4
NLH3-2.2-20-2.7-% 4.0MPax208 /nn | 30MPax2.7 2 /nin RC1/2 RC1/2-RC3/4
NLH3-2.2-20-3.7-% 4.0MPax20¢ /mn | 21MPax3.7 2 /mn RC1/2 RC1/2-RC3/4
NLH3-2.2-30-2.7-% 5 olkw-dP 3.0MPax30£ /mn | 30MPax2.7 ¢ /min RC1/2 RC1/2-RC3/4
NLH3-2.2-30-3.7-% 3.0MPax302 /mn | 21MPax3.7 £ /min RC1/2 RC1/2-RC3/4
NLH3-2.2-40-2.7-% 2.0MPax408 /mn | 30MPax2.7 § /min RC1/2 RC1/2-RC3/4
NLH3-2.2-40-3.7-% 2.0MPax400 /mn | 21MPax3.7 § /min RC1/2 RC1/2-RC3/4
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RTRR BEERYT2)—X

XEERIIMEANTIA R TIZY FEVIR—)U R (HHEE) Z— ML LAZSBSREBOIZY b£.22/XT MNITEXT,
MNLISERE AR 71 = N NLHSSEEEER2ER Y T 1= N T 4B T AR E > <ALTT,
XHEHEHIIERRSENZRLIZEDTT,

KE—F—DBF L. 750WHA D5 1340 0 A EERY T,




